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Ee _ _
231 - AERR 20 | uBE | BHFE | 5F8 | SHE | WEER | LHE | BBE | RS | FAR | BER | BES | TEE | =R s
(1)ZIRPEEEL 125 1 1 0 0 1 1 4 6 0 0 5 8 1 7
(2) 2RI BREEE R 70 0 0 0 0 1 0 3 5 0 0 3 4 0 4
FRl . EREEFR
() EEGREBRAIEE L 52 0 0 0 0 0 0 1 4 0 0 4 2 0 4
(4)RBERTE SIS 44 0 0 0 0 0 0 1 3 0 0 3 2 0 4
(5)ZHREFBEER 4 0 0 0 0 0 0 0 0 0 0 0 0 0 0
FRERBRDHZAR
(6) 2 RIHEREAEE LR 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(7)BAREPEEL 27 0 0 0 0 0 3 1 0 0 0 2 1 0 0
EREREBRDHZAR
(8)ERGREASISE L 12 0 0 0 0 0 2 0 0 0 0 0 0 0 0
0)SHREATEEL 3 0 0 0 0 0 0 0 0 0 0 0 1 0 0
g | RS
(ERIRERDHZ1R) N
(10)IHERESARE LR 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0
11)SHREAEEY 173 3 2 0 2 0 10 3 0 2 4 4 2 6 13
ey T i
EIGRERDH AR
(SR =) (12)IEERTE RIS 121 1 1 0 2 0 8 2 0 2 1 2 2 5 10
mARR (13)BREAAER(HREAIEER) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= o
T G 332 4 3 0 2 1 14 8 6 2 4 11 12 7 20
(1)+(5)+(7)+(9)+(11)+(13)
sy, =
(I5)FHERHBED 132 1 1 0 0 1 1 4 6 0 0 5 9 1 7
(1)+(5)+(9)
oIy #
gy |(OFRERER 74 0 0 0 0 1 0 3 5 0 0 3 4 0 4
(2)+(6)+(10)
(17)FRIa18E
56.1%| 0.0%| 0.0% - —1100.0%| 0.0%| 75.0%| 83.3% - —| 60.0%| 44.4%| 0.0%| 57.1%
(16)/(15)
= = e
(18)REEHRFREL 325 4 3 0 2 1 14 8 6 2 4 11 11 7 20
(1)+(7)+(11)
sy |(ORBERER 185 1 1 0 2 0 10 3 4 2 1 6 4 5 14
(3)+(8)+(12)
(Zo)iiié*gz 0, 0, 0 0 0, 0, 0, 0 0, 0, 0, 0 0, 0
(19)/(18) 56.9%| 25.0%| 33.3% —1|100.0% 0.0%| 71.4%| 37.5%| 66.7%]| 100.0%| 25.0%| 54.5%| 36.4%| 71.4%| 70.0%
st |(GEBRESHESS 166 1 1 0 2 0 8 3 3 2 1 5 4 5 14
(4)+(10)+(12)+(13)
BIRE (%) (22)(3§ ?;fi ):'*gx 50.0%| 25.0%| 33.3% —1100.0%| 0.0%| 57.1%| 37.5%| 50.0%|100.0%| 25.0%| 45.5%| 33.3%| 71.4%| 70.0%
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ERFE = =
B¥7I EE WERR £EH FRE | BLE | AR | BHE | LERE | RHE | IRRE | BEE | BARE | =58 | $EBERE | REF | KRE | BER | REE fIHRLuUE
(1)ZIRPEEEL 125 7 4 1 9 0 7 3 4 21 0 1 2 5 3 1 0
()RR ES 70 3 1 0 7 0 4 2 1 14 0 1 2 4 1 0 0
FR - ERREEFIR
() EHGRAREH 52 3 3 0 7 0 3 2 0 4 0 1 1 4 1 0 0
() RRIRTESISEE R 44 1 1 0 6 0 3 2 0 4 0 1 1 4 1 0 0
(5)ZREBFEE 4 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0
FREBRDHZAE
(6)FRIERAIEES 3 0 0 0 0 0 0 0 0 0 0 1 0 0 1 0 0
(7)SIREPEEH 27 0 0 0 0 0 0 1 0 4 1 2 1 1 1 0 1
ERRBRDHZHE
(8)REGRAIRE I 12 0 0 0 0 0 0 0 0 3 1 0 0 1 1 0 0
. 9)ZHREABE 3 1 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
e I Rt
(ERIRERDHZ1R) N
(10)BBRTEAIRER 1 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0
11)SHREPFBE 173 3 9 2 2 0 7 8 12 24 2 4 11 5 6 1 1
S bt
ERGREBRDH TR
(SR =) (12)BEREAIRE R 121 3 7 2 2 0 4 8 7 19 0 3 10 3 4 1 0
W75k (13)ZREPBER(RBRESIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= 2= o
TIREH (1) HRFERE 332 11 13 3 12 0 14 12 16 49 3 8 14 11 11 2 2
(1)+(5)+(7)+(9)+(11)+(13)
ESEaEETre
(I5)FHERHBED 132 8 4 1 10 0 7 3 4 21 0 2 2 5 4 1 0
(1)+(5)+(9)
=3 NSy #
gy |(OFRERER 74 3 1 0 8 0 4 2 1 14 0 2 2 4 2 0 0
(2)+(6)+(10)
(17)$*ﬂéﬁ$ 0 0, 0, 0, 0 0 0 0 0, 0, 0 0, 0, 0
(16)/(15) 56.1%| 37.5%| 25.0%| 0.0%| 80.0% —| 57.1%| 66.7%| 25.0%| 66.7% —|100.0%| 100.0%| 80.0%| 50.0%| 0.0% -
= T
B (18)REEHRFREL 325 10 13 3 11 0 14 12 16 49 3 7 14 11 10 2 2
(1)+(7)+(11)
1 =
sy |(ORBERER 185 6 10 2 9 0 7 10 7 26 1 4 11 8 6 1 0
(3)+(8)+(12)
(Zo)iiié*gx 0, 0 0 0, 0, 0 0, 0 0 0 0 0, 0, 0, v} 0
(19)/(18) 56.9%| 60.0%| 76.9%| 66.7%| 81.8% —| 50.0%| 83.3%| 43.8%| 53.1%| 33.3%| 57.1%| 78.6%| 72.7%| 60.0%| 50.0% 0.0%
Bigkst (21 ERERIE SRS 166 4 8 2 9 0 7 10 7 23 0 4 11 7 5 1 0
(4)+(10)+(12)+(13)
BIBE (%) (22)(3§ ?;fi .):.4§$ 50.0%| 36.4%| 61.5%| 66.7%| 75.0% —| 50.0%| 83.3%| 43.8%| 46.9%| 0.0%| 50.0%| 78.6%| 63.6%| 45.5%| 50.0%| 0.0%
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ERTE 1
B3 - AR 2E | BRE | BRE | BLE | ZBE | LO8 | B8 | B8 | BEE | SN0 | EEE | ABE | SR8 | KR | A8 | =5 |EREE| s
(1)BREEEL 125 0 0 4 4 6 0 0 1 0 5 1 1 0 0 0 0 0
(2)FREBRAIRELR 70 0 0 2 0 4 0 0 0 0 4 0 0 0 0 0 0 0
PR BREEDR
(3)REHBRAIREL 52 0 0 3 0 4 0 0 0 0 1 0 0 0 0 0 0 0
(A)EEERTE AR B 44 0 0 2 0 4 0 0 0 0 1 0 0 0 0 0 0 0
(5)BHREEEL 4 0 0 0 0 0 0 0 0 0 2 0 0 0 0 0 0 0
FRHROH S
(6)FRIBRAIREL 3 0 0 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0
(7) SRS 27 1 0 1 4 0 0 0 0 0 0 0 2 0 0 0 0 0
EIRROH SR
(8)REBRAIREL 12 1 0 0 1 0 0 0 0 0 0 0 2 0 0 0 0 0
0)HIRETHES 3 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g | RS
(FRIRBROHDIR) .
(10)IRRERERIRE R 1 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
11)SHREEES 173 4 0 1 10 1 0 0 1 0 3 0 1 1 2 1 0 0
e I itk
EHRROH T
(SR =) (12) BRI &R 121 1 0 0 6 0 0 0 0 0 1 0 1 1 1 1 0 0
vep (13) BB BRI AIREL) 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
= o
sapy | ((HERERESR 332 5 0 6 18 7 0 0 2 0 10 1 4 1 2 1 0 0
(D)+(5)+(7)+(9)+(11)+(13)
sy, =
(I5)FHERHBED 132 0 0 4 4 6 0 0 1 0 7 1 1 0 0 0 0 0
(1)+(5)+(9)
oIy #
gy |(OFRERER 74 0 0 2 0 4 0 0 0 0 5 0 0 0 0 0 0 0
(2)+(6)+(10)
N
(A7)FREtEE 56.1% - —| 50.0%| 0.0%| 66.7% - -l 0.0% —| 71.4%| 0.0%| 0.0% - - - - -
(16)/(15)
= = e
(18)REEHRFREL 325 5 0 6 18 7 0 0 2 0 8 1 4 1 2 1 0 0
(1)+(7)+(11)
sy |(ORBERER 185 2 0 3 7 4 0 0 0 0 2 0 3 1 1 1 0 0
(3)+(8)+(12)
ey 8574
(Zo)fzj;'i)* 56.9%| 40.0% —| 50.0%| 38.9%| 57.1% - -1 0.0% —| 25.0%| 0.0%| 75.0%|100.0%| 50.0%| 100.0% - -
st |(GEBRESHESS 166 1 0 2 6 4 0 0 0 0 2 0 1 1 1 1 0 0
(4)+(10)+(12)+(13)
BIEE (%) (22)(3?;;?114?4%@ 50.0%| 20.0% —| 33.3%| 33.3%| 57.1% - -l 0.0% —| 20.0%| 0.0%| 25.0%|100.0%| 50.0%| 100.0% - -




